BOSTONTtec
B @

Ergonomic Workstations

Corrugate Storage Shelf Assembly

Tool List

#3 Phillips screwdriver, or
impact driver with #3 Phillips bit

7/16" wrench

Insert brackets in
right slot of upright

Insert brackets in Upright
left slot of upright

Part # €ss1590 - 15" x 90" Corrugate Shelf

nuts (F).

Optional - Insert available corrugate shelf dividers CSSDIV
or CSSDIVP into pre-drilled holes of corrugate shelf
assembly.

1 Determine desired height of corrugate shelf and insert Item Components Qty
corrugate shelf brackets (B and C) into uprights. See A | Corrugate shelf assembly 1
graphics for correct placement in slots of uprights.

B Left corrugate shelf brackets 2

2 Set the corrugate shelf assembly (A) on top of corrugate C Right corrugate shelf brackets 2
shelf brackets (B and C). D 1/4-20 x 1/2" Hex head cap screw 8

3 Attach shelf to brackets with 1/4-20 x 1/2" Hex head cap E 1/4" Spring lock washer 8
screws (D), 1/4" Spring lock washers (E) and 1/4-20 Hex . 1/4-20 Hex nut o

a Left bracket Right bracket

Item: B Iltem: C




BOSTONTtec
B @

Ergonomic Workstations

Corrugate Storage Shelf Assembly

Optional - Corrugate Shelf

A/Panel Dividers CSSDIVP Optional - Corrugate Shelf

o Dividers CSSDIV

D Part # €SS1530 - 15" x 30" Corrugate Shelf
Item Components Qty
A Corrugate shelf assembly 1
B Left corrugate shelf brackets
C Right corrugate shelf brackets
:ar:'sairlfet in D 1/4-20 x 1/2" Hex head cap screw

left slot of

A DD IR |

. Insert E 1/4" Spring lock washer
upright bracket in
Fig - 2 ' right slot F 1/4-20 Hex nut
Upright of upright

Optional - Corrugate Shelf
+ Dividers CSSDIV

Part # €ss1560 - 15" x 60" Corrugate Shelf

Item Components Qty

A Corrugate shelf assembly 1

D B Left corrugate shelf brackets 1

e ! g C Right corrugate shelf brackets 1

D 1/4-20 x 1/2" Hex head cap screw 4

Insert B E 1/4" Spring lock washer 4

bracket in .
Fig - -
right slot Insert . ig -3 F 1/4-20 Hex nut 4

upright




